@7 @®)10 ® 25

@ 5

=2

ox-3=1 —y+3=

LERER S
Lx=2,y=5

10




St
=

2 f(x) = V= 1+ 2004 £ (4) ] 3r2?
® 4 @s ® 6 @ 7 ® 8

fx)=Vi—1+2°A fF1(4)=kZE
fk)=4

-0
VEk-1+2=4, Vk-1=2
k—-1=4°" k=5
L ft4)=5




3.

1 2 50 744 9] A4 oA 3 EE 5 o] vj4e] A4

3 9] HjR7F o AL A,

5 9] Bj57k 1o AR B o} o

n(A) = 16 , n(B) = 10

ANB 335 9 FHls,

Z 15 9] H|4=0| 22 n(ANB) = 3

- n(AUB) =n(A)+n(B)—n(ANB)
=16+ 10 - 3 = 23(7)




o=t

S

742191 7

12714

P

ul

>

s,

ofel 1} o]

‘%‘ a,b,C,d E]- ‘8}--—]—1, ;S-X]—O’] %%% p.q,r E]—
H
H

p
q
r

p
qd<
r

<

p
q c
r

p
2 ol
r

<

L 4x3=12 (7HA)




sP, = 336

© oz
=2 - 1

A71E Adr

94

*2?

r=3

336 = 8 x 7 x 6 oA




=

Hoe

| L8z A A

=0
=

778 9] 7}

5040 7FA]

P

ul
K0

.I

7! = 5040 (7}X)

7Pr =




7.

5 M 2} 1, 2, 3, 4, 5 FO|A] AR ThE 4 7o) 222 AF&-5}o]

@ 5 @ 10 ® 20 @ 60 @120

Yl Zte] 2k o] B BollA Al et o2 £7t HlBg
5 M9 At FollA A2 T2 4 |5 =le £F9] olBR
5Py =5x4x3x2=120 (7}A])







_ + 6 a b
2400 HE AL tfste] = - < WHA7
xX° # A= x o o]-Oi]x2_4 12 _92 = 171

8 a® b7F Aok oldl, a + b 9] g7

© -6 @)-3 ® -1 @ 2 ® 4

(a—b)x—2(a+Db)
- x2 -4
Gt a-b=1, —2(a+b) =622 A5}t EH
a=-1, b=-2
L a+b=-3

rr




10.

%/}Jl x(X+1) (x+1)(x-|-2) (x+2)(x+3) + (x—|-3)(x+4)
(x(x T 4)) SAPAIE( )Fol BoiZ AL 519
@1 @ 2 3 3 @ 4 ® 5

x x+4
x+4-x
- x(x+4)

=)+ ()

X X
+(1 1>+
x+2 x+3

1 x
|
x+3 x+4

1 1

4
FeEw)




11.

3x% + 2xy o

3x=2y#0 o, 29
X y 2 2+ 1 X

) 12 7 12
o @ o5 @@=

B

3x=2y# 09X x:y=2:3
watA] x =2k, y=3k (k#0)2 F2H
3x2 +2xy  3(2k)%+2-2k- 3k

x4 xy (2k)% 4 2k - 3k
12K+ 1267 24k 12

4k2 +6k2  10k2 5




4 4D _
12 5= = g = ol acl e ol
> =
> HE D A=-25

—x+2(y+4z) -8xz
—5+2x2-8%3
_—x+2y+82—8z__x+2y
T 5+4-24 -2
LA=-25




Sy = —H"_Qﬂ AL x#aQ RE A5 ALy 2 b3
RE Agoltt, oluf, a4+ b O] gh2?

®5 @4 0-3 @®-2 @)

5y =5 A0l x £ aql RE Agoln
o] y b Q) RE AS0l® x = g, y = b FZHOITh
(x2) -2 -2
Ay = = 1 0| &
w2A S =y H 19




_3x+1
y= 2x -1
= totofet

14.

o A3

bolTh. a+ bl

A

=1

La=

1
~b=
2

A 0]
3
2

a

+b

[e]
WAL x =

2

N | =

> Y

J
2




15.

@ 3 @ 2 ® 1 @-1 @)

= a
e AL x=
3xy 4+ 2x = ay
) —2x
T 8x-a

2x
“1(y) —
=g

BE Ae x o diste
fx) =f"(x) 18R

ax —2x




16.

y
yEOE pErE Bl

Vix-12+59 I3 ==

A

v

ot Zo|t},

Q <

=2x9 IHLE x5
+p2] Fe ool

o= q,




17.

A7} 5ha Afololi= 197} o] ol
e o] 220 (B 2e ARE 5 4

DA 1x2=2
2)H->B—- St :2x3=6
3)H>A—->B—>St0: 1x2x3=6
JA->B—->A—-SW I 2x2%x2=28
L 2464+6+8=22




@ 27 @ 370 @ 474 @)5 7N

® 671

2-x>0, x+3>0
L -3<x<2090|BR AL 4 570




19.

B Va+1 a+1
A% o] ko] o e i B SRR TR

Va-1
Va2 = 2a + 19 329

@_2 @2(1 @261—2

@ -2a @2

B

B B
/_:_£ o5 {H B>0, A <0
A VA
1 —
Lt il 150 a-1<0
Va+1 a-1

=-1<a<l1
= Va?+2a+1+ Va® —2a+1
=la+1|+|a-1]
=a+1-(a—1)=2




10+ V969 A% HES 0 44 RS pet T W) at bt ——

o ke F5}7

@2‘/6 @ 6 ® 2-+6
@ 3+ V6 ® 3+ 13

B ,
V10 4+ V96 = V10 +2v24 = \/(V6 + V4)?

= V6+2,2+ V6=4 xxx

BERE 425 RE b = V6-2
2 2
=Sat+b+— =2+ V6+ ——
a+b 2+ 6
2(V6 -2
=V6+2+ (v6-2)

(V6 +2)(V6-2)
=246




21.

b 57, olsh n e QYR AL ), Fep7le o] 2ste] Ak
=
o

$-2] =7} 86400 7}A] o]t} o] u,

n 9 27

1

(n+1)!

5! = 86400

S(m+ )=
n=5

86400

120 720 =6

@ 8 ® 9
S SIUE HH n4 1 B2 482 A= 97 2o
of7]of FeA 7Y 2 E vt S FalErt - (n+1)!x




22.

A X = (0, b, ¢, d) ol okl XoI4 X 29 Aehd e o] A4

9

@D 16 7 @24711 @307 @427 & 5470




== f g7]'f(x)=m, gx) = Vx+1 € o, 0<x<40fA
Wy = (o)) O HAYT A% FE Fohe?

1
D

t

(@)
)

£,
fa!
NG l'ﬂ-l
|
- Lo
\/
{Mh—t
1
v




24. poow e 95 7H31}—§—‘£Eé§ﬂﬂ°§§ﬂ1,p, 0, w% HoJ& 2
A7} o) 9ote A99] 2 Fatola)

> & 714

> == 108714

B ‘

5 709 EAE 48 & Hjdots A9 = 5 =120
p, 0, w5 o ALk o] %5}17] Y= HLY o=
P @ 10 2 gd vjdsta 1 AtolAtold e, r 0] LE= HiE

St 499 et gonz
3Ix 2=6x2=12
whatA] FokE 99 = 120 - 12 = 108




25. of2 -3 Zo] 207K 2] Ho]
Qe ufj, o]5 207l2] Hog s

I
My
rlo
W
N
oy 1o
N
>
N
~ ogl
ko
oS

+
32
rr

=

> E

> ®E 1056 7

S5 ~

Z A3 Jlg= 207004 371 &5t H--9

Fo 4 3708 HiS o Aol =A] =

7390 £ #i= 7HA] o)tk

AZtgo] =] e FeY &

i) A = 5719 A FollA 371 Elsh=
399 41 503 x4 =40

27400 Q= 4712 A FollA 37] st

o &1 4C3x9 =36

27l iz 3718 A FollA 371 Elsh=
7399 303 x8 =8

wehA ok -9 4= 20Cs — (40 4 36 + 8) = 1056

r
.
ol

rr




